12”0500 (K12n0500)

/K f\\ Linearized knot diagam
o A e el

S0/ 8 3 6 12 & 2 10 11 3 6 7 4

10 . Solving Sequence

69->10—->7>311-2—>1—>5—>8—>4—> 12> C3,C7,C11
C9 €6 C10 C2 C1 Cs C8 Cq4 C12

A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar
It = (5u®® — 140 + -+ 20+ 5, —u®° + 20 + -+ 4a+5, w3 — 40+ — 20— 1)

Iy = (b, a® +a*u+a*—2u—3, v’ +u—1)

* 2 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(bu3® —14u?%+...42b+5, —u3%+2u??+...+4a+5, w3l —4u30+... —2u—1)

(i) Arc colorings

1
ag = \0
1
alg = —U2
U
ar = \ —yd 4 u
1,30 _ 1,29 5 5
ng 2u +7§u725
az = 75'1,&30 + 7U29 + — 6'Z,L -3
—u?+1
a1n = \y? — 22
1,30 1u29+..._§u_§
ag = <—§3U30+33U2g+"'— 249u4—3>
9,30 _ 15,29 21 5
230 15,29 4 o4 2L, 4 5
a = (f5u30 Lz oty _21)
4 4
1,29 , 3,28 17 3
—ud +2u
ag = \ud —3ud +u
—iu3o+iu29+--~—%u+%
ay = iu30—%u29+---+%u—|—i
T30 — T o By 4 7
a9 = _%u30+1z3u29+._._%u_1
(ii) Obstruction class = —1
(iii) Cusp Shapes = —11u%0 + 290 + ... — 16u* — 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 w3t 35030 4+ 177U+ 4

C2,C5 W +3u 0+ —15u+2

C3,C11 uwt = 3w 4+ —u 1
C4 w3t — 30?0 + .. — 2916w + 243

C6,C7,Co wl — 40 o 2y —1

C10

s w4+ w3+ —32u+ 64
12 u?t + 220 + - — 20950 + 2071




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

¢l Y3 — 75430 4 ...+ 52609y — 16

2, Cp y*t =35y -+ 1TTy — 4

€3, C11 y*! +25y%0 + - 4+ 65y — 1
4 y3t + 5y30 + - - 4 3359232y — 59049

€65 C7,C9 3 =340 . 2y —1
C10
Cs y3t + 35050 + ... 4+ 1024y — 4096
31 30

c12 Yo 444y 4 - - - — 9225729y — 4289041




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.602350 + 0.7644891
a = —0.96517 — 1.539531
b= 0.35606 — 1.752881

—5.83199 — 7.506351

2.66894 + 5.594561

u = —0.602350 — 0.7644891
a = —0.96517 + 1.539531
b= 0.35606 + 1.752881

—5.83199 + 7.506351

2.66894 — 5.594561

u = —0.543360 4 0.7925141
a= 0.91165 + 1.542151
b= —0.17449 + 1.809841

—10.03040 — 2.623431

—1.03684 + 2.680721

u = —0.543360 — 0.7925141
a= 0.91165 — 1.542151
b= —0.17449 — 1.809841

—10.03040 + 2.623431

—1.03684 — 2.680721

u = —0.473452 4 0.8020111
a = —0.85502 — 1.550011
b= —0.03027 — 1.793701

—6.21873 + 2.317351

1.87364 — 0.581111

u = —0.473452 — 0.8020111
a = —0.85502 + 1.550011
b= —0.03027 + 1.793701

—6.21873 — 2.317351

1.87364 + 0.581111

u= 0.751448 4 0.3119771
a = —0.131566 — 0.3244541
b= —0.652866 + 0.6536891

3.50508 + 0.499051

6.93091 — 1.389941

u = 0.751448 — 0.3119771
a = —0.131566 + 0.3244541
b= —0.652866 — 0.6536891

3.50508 — 0.499051

6.93091 + 1.389941

u = —1.34946

a = —0.997928 2.46733 3.43490
b= 1.24408
u = 1.366810+ 0.0743941

0.234215 — 0.6220511
b = —0.045603 — 1.2642601

3.50947 + 1.973761

4.13605 — 3.594711




Solutions to I}

V=1 (vol + v/=1CS)

Cusp shape

u= 1366810 — 0.0743941
0.234215 + 0.6220511
b = —0.045603 + 1.2642601

3.50947 — 1.973761

4.13605 + 3.594711

u = —1.375110 + 0.0926031
0.939498 + 0.2198361
b= —1.276320 — 0.0625201

6.34649 — 4.232031

7.34906 + 3.435001

u = —1.375110 — 0.0926031
0.939498 — 0.2198361
b= —1.276320 + 0.0625201

6.34649 4 4.232031

7.34906 — 3.435001

u= 0.527133
a = —0.257315
b= 0.358345

0.784642

13.1720

u= 147433+ 0.088121
a = —0.497026 4 0.9704431
b= 10.186128 + 1.1635501

9.65588 + 4.459831

7.97346 — 3.714661

u= 147433 —0.088121
a = —0.497026 — 0.9704431
b= 10.186128 — 1.1635501

9.65588 — 4.459831

7.97346 + 3.714661

u= 0.146677 + 0.4925971
—0.018556 + 1.2928101
b= 0.836447 + 0.4544431

1.62298 + 2.353841

1.82470 — 4.532141

u = 0.146677 — 0.4925971
a = —0.018556 — 1.2928101
b= 0.836447 — 0.4544431

1.62298 — 2.353841

1.82470 + 4.532141

u= 149116 + 0.298581

0.877997 — 0.3676791 0.10746 4 1.694921 0
b= —0.35046 — 1.704811
u= 149116 —0.298581

0.877997 + 0.3676791 0.10746 — 1.694921 0

b= —0.35046 + 1.704811




Solutions to I V—1(vol + /—1CS) Cusp shape
u= 1.54074 4+ 0.286531
a = —0.983728 4+ 0.4066761 | —3.24464 + 6.598651 0
b= 0.52058 + 1.683081
u = 1.54074 — 0.286531
a = —0.983728 — 0.4066761 | —3.24464 — 6.598651 0

b= 0.52058 — 1.683081

u = —0.369500 + 0.2153461
a= 0.63729 + 2.889171
b = —0.010339 4 0.5999541

3.53058 — 3.262631

—0.32878 + 7.069571

u = —0.369500 — 0.2153461
a= 0.63729 — 2.889171
b= —0.010339 — 0.5999541

3.53058 + 3.262631

—0.32878 — 7.069571

u= 157119+ 0.265711

a= 1.058660 — 0.4524561 1.31297 + 11.335001 0
b= —0.63708 — 1.611407
u= 157119 —0.265711

a= 1.058660 + 0.4524561 1.31297 — 11.335001 0
b= —0.63708 4 1.611407

u = —1.59573

a= 10.257600 8.24985 15.5880

b= —0.497580
u = —1.63289 + 0.052651

a = —0.234203 — 0.3215541 11.78470 — 1.721021 0
b= 0.5313754 0.618506.1
u = —1.63289 — 0.052651

a = —0.234203 + 0.3215541 11.78470 + 1.721021 0

b= 10.531375 — 0.6185061

u = —0.136671 + 0.3206131
a= 0.02478 — 2.195571
b = —0.305592 — 0.5945431

—1.239080 — 0.5761531

—5.00436 + 2.782361




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.136671 — 0.3206137
a= 0.02478 + 2.195571
b = —0.305592 + 0.5945431

—1.239080 +- 0.5761531

—5.00436 — 2.782361




II. I¥ = (b, a®* + a®’u+a®* —2u—3, v  + u—1)

(i) Arc colorings

Aut+a—u—1
ayp =

au —a
as =
ag —

as =
a®u—au+2a—u—1
a2 = au —a

(ii) Obstruction class =1

(iii) Cusp Shapes = —a® —6au +a+u+5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,11 (u® —u® +2u—1)°
Co (u® 4+ u? — 1)
3 (u +u? +2u+1)2
€4 ub — 2u® + 5ut + 2u® + 3u® —3u—1
& (u? —u? +1)?
ce, C7 (u? —u — 1)3
cs ub
Cy, C10 (u? +u — 1)3
c12 ub —u® —ut + 4P + 30— 1

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C11 (y3+3y2+2y—1)2
C2,C5 (v’ —y* +2y—1)°

Ca Y%+ 6y° + 3991 + 12¢° + 112 — 15y + 1

Cg, C7,C9 (y2 73y+1)3
C10
Cg y6
C12 Y% — 3y° + 15y* — 249 + 112 — 6y + 1

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol +/=1CS) Cusp shape

u= 0.618034

a= 1.22142 —0.126494 0.818320

b= 0

u= 0.618034

a = —1.41973 + 1.205211 4.01109 + 2.828121 8.89985 + 0.158181
b= 0

u= 0.618034

a=—1.41973 — 1.205211 4.01109 — 2.8281271 8.89985 — 0.158181
b= 0
u = —1.61803

a = 0.542287 + 0.4603501 11.90680 — 2.828121 9.10673 + 4.430241
b= 0
u = —1.61803

a = 0.542287 — 0.4603501 11.90680 + 2.828121 9.10673 — 4.430241
b= 0

u = —1.61803

a = —0.466540 7.76919 —1.83150

b= 0

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u® = u? +2u — 1)?)(u® + 3500 + -+ + 177u + 4)
C2 (u® +u? = 1)) (3 + 303 + - — 15u +2)
c3 (u +u? +2u+1)%)(u® =30 + - —9u+ 1)
Cq (b —2u° + -+ — 3u — 1) (u3 = 3u® + .- — 2916u + 243)
Cs (u® —u? + 1)) (3 + 303 + - — 15u + 2)

C6, C7 (u? —u—1)*) (W3 —4u®0 + - —2u — 1)
Cs ub(udt + w0 4 - — 32u + 64)

€9, €10 (v 4u—1)3 w3 —4u® + .. —2u —1)
c11 (u® —u? +2u— 1)) (W —3u* +--- —9u 1)
c12 (u® —u® — u* 4+ 4u® 4+ 3u? — 1) (63" + 220 + -+ — 2095u + 2071)

13



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

a1 ((v* +3y* + 2y — 1)?)(y*! — 75y + - - + 52609y — 16)
C2, €5 ((4° = v* +2y = 1)*)(y*" = 35y™ +--- + 177y — 4)
c3,c11 ((* +3y> +2y — 1)*)(y*" + 259> + - + 65y — 1)

cy (5 + 6y° + 39y* + 12¢° + 11y% — 15y + 1)

(4 5% + -+ 3359232y — 59049)
Cg, C7,C9 ((y2—3y+1)3)(y31—34y30+-~-—2y—1)
C10
cs ye (13 + 3590 + - - - + 1024y — 4096)
1o (y® — 3y° + 15y* — 24y + 11y* — 6y + 1)

(yPt 4 4490 + -+ - — 9225729y — 4289041)
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